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1 Introduction
In the former 3GPP TSG-RAN meeting, the following conclusion is made on the E-TFC selection.

(1) In the timeslot where the power sum of all the uplink channels is beyond the maximum transmission power of UE, the E-PUCHs have the lower priorities over the other channels. That is, the powers of the E-PUCHs in the timeslot are dropped firstly to make the power sum of all the uplink channels in the timeslot is equal to the maximum transmission power of UE.

Based on the above conclusion, the following questions on the E-TFC selection are discussed in the document.

(1) If the power grant of one E-PUCH is dropped by the different values in the different timeslots, how to determine the power grant of this E-PUCH?

(2) If the power grant of one E-PUCH is dropped by the different values in the different timeslots, how to determine the transmission power of this E-PUCH in the different timeslot?
(3) Among the timeslots with at least one E-PUCH, select the timeslots where the power sum of all the uplink channels is beyond the maximum transmission power of UE. Divide the selected timeslots into two groups: the timeslots with only one E-PUCH form the first group while the other timeslots form the second group. How to revise the power grants of the E-PUCHs in the timeslots in the first group? 
(4) How to revise the power grants of the E-PUCHs in the timeslots in the second group?
(5) When more than one carriers are scheduled to UE in the same TTI, is it required to prioritise the E-PUCHs on the different carriers? If required, how to prioritise the E-PUCHs on the different carriers? Is the data with the higher priority put on the E-PUCH with the higher priority?
The first three questions exist in both LCR SC-HSUPA and LCR MC-HSUPA. The last two questions exist only in LCR MC-HSUPA.
2 E-TFC selection questions and solutions
Question 1: If the power grant of one E-PUCH is dropped by the different values in the different timeslots, how to determine the power grant of this E-PUCH?
Solution to question 1: The power grant of this E-PUCH is dropped by the maximum value among the different values. For example, the power grant of one E-PUCH is dropped by 3dB and 5dB respectively in TS1 and TS2. The power grant of this E-PUCH is dropped by 5dB.
Question 2: If the power grant of one E-PUCH is dropped by the different values in the different timeslots, how to determine the transmission powers of this E-PUCH in the different timeslots?
Solution to question 2: Select one solution between the following two solutions.

Solution 2A: This E-PUCH has the same transmission power in the different timeslots. In each timeslot, the transmission power of this E-PUCH is determined by the power grant given in the solution to question 1. For example, the power grant of one E-PUCH is dropped by 3dB and 5dB respectively in TS1 and TS2. The transmission powers of the E-PUCH in TS1 and TS2 are dropped by 5dB.
Solution 2B: This E-PUCH has the different transmission powers in the different timeslots. In each timeslot, the transmission power of this E-PUCH is determined by the dropped power grant of this timeslot. For example, the power grant of the E-PUCH is dropped by 3dB and 5dB respectively in TS1 and TS2. The transmission powers of the E-PUCH in TS1 and TS2 are dropped respectively by 3dB and 5dB.
Question 3: Among the timeslots with at least one E-PUCH, select the timeslots where the power sum of all the uplink channels is beyond the maximum transmission power of UE. Divide the selected timeslots into two groups: the timeslots with only one E-PUCH form the first group while the other timeslots form the second group. How to revise the power grants of the E-PUCHs in the timeslots in the first group? 

Solution to question 3: For each timeslot in the first group, the power grant of the unique E-PUCH in this timeslot is revised independently. The power grant of the E-PUCH is dropped to make the power sum of all the uplink channels in this timeslot equal to the maximum transmission power of UE.
Question 4: How to revise the power grants of the E-PUCHs in the timeslots in the second group?

Solution to question 4: Record all the E-PUCHs in the timeslots in the second group, the power grants of these recorded E-PUCHs are revised jointly. These E-PUCHs are prioritised according to some pre-defined rule to form the E-PUCH priority queue with the E-PUCH with the lowest priority in the first place and the E-PUCH with the highest priority in the last place. From the E-PUCH in the first place of the priority queue, drop the power grant of the E-PUCH one by one to make the power sum of each timeslot in the second group equal to the maximum transmission power of UE.
Question 5: When more than one carriers are scheduled to UE in the same TTI, is it required to prioritise the E-PUCHs on the different carriers? If required, how to prioritise the E-PUCHs on the different carriers? Is the data with the higher priority put on the E-PUCH with the higher priority?
Solution to question 5: Prioritise the E-PUCH on the different carriers according to the pre-defined rule and put the data with the higher priority on the E-PUCH with the higher priority.
The rule for prioritising the E-PUCHs in question 4 and question 5 can be discussed later.
3 Conclusion
The questions on the E-TFC selection in LCR MC-HSUPA are presented and the corresponding solutions are given. It’s expected to discuss the corresponding solutions and accept them.
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